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Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer any TEN questions. 

1. Define the term financial management. 

 {v°¯À ÷©»õsø© Gß£uß C»UPn® u¸P. 

2. Who is a financial manager? 

 {v°¯À ÷©»õÍº Gß£Áº ¯õº? 

3. What do you mean by capital structure? 

 ‰»uÚ Aø©¨¦ GßÓõÀ GßÚ? 

4. List out the different types of leverages. 

 BØÓ»õuõ¯zvß £À÷ÁÖ ÁøPPøÍ 

Á›ø\¨£kzxP. 

5. Give the meaning of cost of capital. 

 AhUP •u½k Gß£uß ö£õ¸Ò u¸P. 
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6. State the different methods of determination of 
cost of capital. 

 AhUP ‰»uÚzøu {ºn°UPU Ti¯ £À÷ÁÖ 
•øÓPøÍ SÔ¨¤kP. 

7. What do you mean by dividend policy? 

 £[Põuõ¯U öPõÒøP GßÓõÀ GßÚ? 

8. What is stable dividend? 

 {ø»¯õÚ £[Põuõ¯® GßÓõÀ GßÚ? 

9. What are the components of working capital? 

 |øh•øÓ ‰»uÚzvß EmTÖPÒ ¯õøÁ? 

10. What do you mean by bills receivable 

management? 

 ö£ÖuØS›¯ ÷©»õsø© Gß£uß ö£õ¸Ò u¸P. 

11. Draw the operating cycle chart in working capital 

management.  

 C¯UP _ÇØ] Áøμ£hzøu Áøμ¯Ö.  

12. Mention the short-term sources of finance. 

 SÖQ¯ Põ» {vø¯ ö£ÓUTi¯ ÁÈ•øÓPÒ 

¯õøÁ? 
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SECTION B — (5 × 5 = 25 marks) 

Answer any FIVE questions. 

13. Explain the objectives of financial management. 

 {v°¯À ÷©»õsø©°ß ÷|õUP[PøÍ ÂÍUSP. 

14. A company expects a net income of Rs. 80,000. It 
has Rs. 2,00,000 debentures at 8%. The equity 
capitalisation rate of the company is 10%.  

 Calculate the value of the firm and over 
capitalization rate according to net income 
approach (Ignore income tax). 

 J¸ {Ö©® {Pμ Á¸©õÚ©õP ¹.80,000 
Gvº£õºUQÓx. A¢{Ö©zvÀ 8% Phß £zvμ[PÒ  
¹. 2,00,000US EÒÍx. ÷|ºø©¨ £[S •u»õUP 
Âqu® 10% BS®. {Pμ Á¸©õÚ AqS 
•øÓ°À A¢{Ö©zvß ©v¨ø£²® AøÚzx 
•u»õUP ÂQuzøu²® PnUQkP. Á¸©õÚ Á›ø¯ 
P¸zvÀ öPõÒÍ ÷Áshõ®. 

15. The following information is available in respect of 
a firm. 

 Capitalisation rate 10% 
 Earnings per share Rs. 50 
 Assumed rate of return on investment 12% 
 Find out the market price of shares applying 

walters formula. When the dividend payout ratio 
is 20%. 
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 J¸ {ÖÁÚzv¼¸¢x RÌUPõq® uPÁÀPÒ 
QøhUQßÓÚ 

 •u»õUP ÂQu® 10% 

 J¸ £[QØPõÚ Á¸©õÚ® ¹. 50 

 •u½kPÒ «x FUP¨£mhx Á¸©õÚ ÂQu® 12% 

 ÁõÀhº `zvμzøu¨ £¯ß£kzv £[Põuõ¯ 
öÁÎ¨£õk ÂQu® 20% C¸US® ö£õÊx 
£[SPÎß \¢øu Âø»ø¯U PõsP. 

16. A Ltd issues Rs. 1,00,000  9% debentures at a 
premium of 10%. The cost of floatation is 2%. The 
tax rate is 60%. Find out the cost of debt capital. 

 “A” GÝ® {Ö©® 9% Phß £zvμ[PøÍ  
¹. 1,00,000US 10% •øÚ©zvÀ öÁÎ°kQÓx. 
öÁÎ°k® ö\»Ä 2% Á›ÂQu® 60% Phß 
‰»uÚzvß AhUPzvøÚ PõsP. 

17. A firm has a sales of Rs. 20,00,000. The variable 
cost is Rs. 14,00,000 and fixed cost Rs. 4,00,000 
and debt is Rs. 10,00,000 at 10% rate of interest. 
Find out the leverages. 

 J¸ {ÖÁÚzvÀ ÂØ£øÚ ¹. 20,00,000. ©õÖ£k® 
AhUP® ¹. 14,00,000 ©ØÖ® {ø»°ß AhUP® ¹. 
4,00,000. Phß 10% Ámi°À ¹. 10,00,000. 
BØÓ»õuõ¯[PøÍU Psk¤i. 
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18. Prepare an estimate of working capital 
requirement from the following information of a 
trading concern. 

 (a) Projected annual sales 1,00,000 units 

 (b) Selling price per unit Rs. 8 

 (c) Percentage of net profit an sales 25% 

 (d) Average credit period allowed to customers 8 
weeks 

 (e) Average credit period allowed by suppliers 4 
weeks 

 (f) Average stock holdings in terms of sales 
requirements 12 weeks 

 (g) Allow 10% for contingencies. 

 RÌUPõq® uPÁÀPÎ¼¸¢x J¸ Â¯õ£õμ 
{ÖÁÚzvÀ ÷uøÁ¨£k® |øh•øÓ •uø»U 
PõsP. 

 (A) öu›Ä ö\´¯¨£mh Bsk ÂØ£øÚ 
1,00,000 A»SPÒ  

 (B) J¸ A»Qß ÂØ£øÚ Âø» ¹. 8 

 (C) ÂØ£øÚ°À {Pμ C»õ£ ÂQu® 25% 

 (D) ÁõiUøP¯õÍºPÐUS AÎUP¨£mkÒÍ Phß 
AÍÄ Põ»® 8 Áõμ[PÒ 

 (E) ÂØ£øÚ¯õÍº AÎzxÒÍ Phß AÍÄ Põ»® 
4 Áõμ[PÒ 
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 (F) ÂØ£øÚz ÷uøÁ°ß AÍÂÀ \μõ\› \μUS 
C¸¨¦ 12 Áõμ[PÒ 

 (G) Gvº£õμõ CÚ[PÐUPõP 10% JxUPÄ®. 

19. The company issues 10,000  10% preference shares 
of Rs. 100 each at a discount of 5%. The cost of 
issue is Rs. 2 per share. Calculate the cost of 
preference capital. 

 J¸ {Ö©® 10,000 10% •ßÝ›ø©¨ £[SPÒ 
JÆöÁõßÖ® ¹. 100 BÚøu 5% uÒÐ£i°À 
öÁÎ°kQÓx. öÁÎ°k® £[S JßÖUS ¹. 2. 
•ßÝ›ø©¨ £[S •uÀ AhUPzøuU PõsP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

20. Explain the functions of financial management. 

 {v°¯À ÷©»õsø©°ß £oPøÍ ÂÁ›. 

21. What is M.M. approach to the problem of capital 

structure under what assumption of their 

conclusion hold good? 

 ‰»uÚ Aø©¨¦¨ ¤μa\øÚ SÔzx M.M. 
AqS•øÓ ¯õx? G¢u AqS•øÓPÎß «x 

AÁºPÍx •iÄPÒ ]Ó¢x ÂÍ[SQßÓÚ? 
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22. From the following information given below 

calculate the weighted cost of capital (before tax) 

for Ashok Ltd. 

  Rs.  

in Lakhs

Shareholders Fund :   

Share capital Equity 500

 Preference 100

Retained earnings  300

Loan funds :  

Secured loans  800

Unsecured loans (including  

intercorporate deposit) 

 

700

  2,400

 (a) Normal yield an equity shareholders fund 

anticipated at 15%. 

 (b) Dividend rate on preference shares 12%. 

 (c) Tax rate for Ashok Ltd 60%. 

 (d) Interest on secured loans 16.25%. 

 (e) Interest on unsecured loans 20%. 
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 RÌUPsh Â£μ[PÎ¼¸¢x Á›US •¢øu¯ 
•UQ¯¨£kzu¨£mh ‰»uÚ AhUP ö\»øÁ 
A÷\õU ¼m {ÖÁÚzxUS PnUQkP. 

  C»m\zvÀ 
¹£õ´ 

£[SuõμºPÎß {v :   

 \©E›ø©¨ 
£[S ‰»uÚ® 

500

 •ßÝ›ø©¨ 
£[S ‰»uÚ® 

100

øÁ¨¤¼¸US® 
Á¸©õÚ® 

 300

Phß{v :  

¤øÚ¯[PÎß «x 
Phß 

 800

öÁsoø»U Phß 
({Ö©[PÒ øÁ¨¦ 
Em£h) 

 
700

  2,400
 (A) \© E›ø© £[SuõμºPÎß {v «x Á¸Áõ´ 

Gvº£õºUP¨£kuÀ 15%. 
 (B) •ßÝ›ø©¨ £[SPÒ «x £[Põuõ¯® 12%. 
 (C) A÷\õU ¼m {Ö©zxUPõP Á›ÂQu® 60%, 
 (D) ¤øn¯[PÒ «x Phß «uõÚ Ámi 16.25%, 
 (E) öÁsoø»U Phß «uõÚ Ámi 20% 
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23. The following figures relate to two companies. 
 ‘P’ Ltd  ‘Q’ Ltd
 (Rs. In lakhs) 

Sales 500  1,000
Variable cost 200  300
Contribution 300  700
Fixed cost 150  400
 150  300
Interest 50  100

 100  200

 Calculate : 

 (a) Operating financial and composite leverage. 

 (b) Comment on the risk position. 

 RÌPõq® öuõøPPÒ Cμsk {ÖÁÚ[PÐUS 

öuõhº¦øh¯øÁ. 

 ‘P’ Ltd ‘Q’ Ltd 

 (¹£õ´ C»m\zvÀ)

ÂØ£øÚ 500 1,000

©õÖ® AhUP® (ö\»ÄPÒ) 200 300

£[PÎ¨¦ 300 700
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{ø»¯õÚ AhUP® (ö\»Ä) 150 400

 150 300

Ámi 50 100

Á›US •ß£õP C»õ£® 100 200

 PnUQkP 

 (A) ö\¯À£õmk {v ©ØÖ® Tmk 

BØÓ»õuõ¯[PÒ. 

 (B) Chº£õmk {ø»°øÚ £ØÔ¯ P¸zx. 

24. The details regarding three companies are given 

below. 

 ‘X’ Ltd ‘Y’ Ltd ‘Z’ Ltd

r 12% 6% 8% 

Ke 8% 8% 8% 

E Rs. 10 Rs. 10 Rs, 10

 Compute the value of an equity share of each 

these companies applying Walters equation when 

dividend payout ratio is (a) 0% (b) 20% (c) 60% and 

(d) 100%. 
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 ‰ßÖ {Ö©[PÒ £ØÔ¯ Â£μ[PÒ R÷Ç 
uμ¨£mkÒÍÚ. 

 ‘X’ ¼m ‘Y’ ¼m ‘Z’ ¼m

r 12% 6% 8% 
Ke 8% 8% 8% 
E Rs. 10 Rs. 10 Rs, 10

 £[Põuõ¯ ö\¾zxø© ÂQu® (A) 0% (B) 20% (C) 
60% (D) 100% C¸¢uõÀ ÁõÀh›ß \©ß£õmøh 
£¯ß£kzv ÷©ØTÔ¯ {Ö©® JÆöÁõßÔß \© 
E›ø© £[Qß ©v¨ø£U PnUQkP. 

—————————— 


